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Attempt any five questions.

All questions carry equal marks.
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1. Compare (i) Output (ii) Price (iii) Profits and (iv} Social
welfare in equilibrium under perfect competition and
monopoly. 15
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2. How does a firm in monopolistic competition achieve
equilibrium in the short run and in the long run ? Show
the excess capacity of the firm in the long run. 15
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. 3. (a) Explain the concepts of (i) Dominant strategy
and (i) Nash ecquilibium choosing suitable
examples. 7

(b) Explain the concepts of adverse selection and
moral hazard. 8
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4. What do you understand by market failure ? Discuss

some of the important sources of market failure. 15
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5. (a) What are public goods ? Show why the market
fails to produce an optimal level of public
goods. 10

(b) Explain the concept of externalitics using
examples. 5
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6. (a) Explain how a firm’s demand curve for a variabie
factor is derived in the short term. 9

(b) The following schedule gives the total output of X

produced per week when hiring between 0 to 8
workers.

No. of workers | Total output of X per week
0 0
60
110
150
180
200
210
210
200
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If the firm pays a wage rate of Rs. 160 per week,
how many workers should it hire if the price of X

is Rs. 4 per unit ? Explain. 6
(=) = K f5 v & gftgdasfia @A @
STUHIAT WM Fsh Toru wenrt fepren shar 21
(@) ﬁnﬂ%-rﬁaawvﬁﬁatgxéamr%%g?awaﬁ
TR R, S 0 © 8 HIGH F WINT Bran B
wIGl Al EEn | I X W 9 aWE T Scared
0 0
1 60
2 110
3 150
4 180
5 200
6 210
7 210
8 200
o fore WUl 1 T el afR weredl <t = 160
TR W AW 9 X R Aing 4 w2 ouly w8
=TE F | |

7. (a) Explain the difference between absolute advantage
and comparative advantage using examples. 8

5584 4




(b) Give arguments in favour of free trade using

suitable example. 7
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8. Write short notes on any two of the following :
(a) Terms of Trade
(b} Natural Monopoly
{c) Contestable Markets

(d) Entry barriers in monopoly T2, 7%
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